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Charge normalized DVCS events(LD2)

Fit result: y = 6564.024
 / NDf = 41667.328 / 462χ

Charge normalized DVCS events(LD2)

𝑐𝑙𝑢𝑠𝐸!"# > 1.2, 145 < 𝑐𝑙𝑢sT < 155 LD2
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Charge normalized event counts
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All the ps3 and ps6 runs
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ps3 and ps6 production runs
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Only ps6 production runs

remove random events remove random events

Random events: 135 < 𝑐𝑙𝑢sT < 145 and 155 < 𝑐𝑙𝑢sT < 165



Suspicious runs
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2325

2458

Ø 2325   Production run   25 𝜇A   58.69 min  sparse
Google run list: LD2 (Corrected this typo)
HCLOG: LH2
Report file: LH2

Ø 2458  Production run   35 𝜇A   28.14 min   sparse



Charge normalized event counts
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Fit result: y = -0.008x + 1.106
 / NDf = 384.308 / 302χ
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𝑐𝑙𝑢𝑠𝐸!"# > 1.2, 145 < 𝑐𝑙𝑢sT < 155
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Fit result: y = -0.003x + 1.094
 / NDf = 381.159 / 242χ

Charge normalized DVCS events(LH2) / Mean value

LD2 LH2

Only ps6 production good runs

remove random events remove random events

Random events: 135 < 𝑐𝑙𝑢sT < 145 and 155 < 𝑐𝑙𝑢sT < 165


